

## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: February 2, 2021

Progress Esti	mate Number	Contract ID Prime Contractor	200221-A05 Vance Brother	,		ary 31, 2021 Net C	nal Contract Amount hange Order Amount nt Contract Amount	\$688,181.79 (\$12,303.76) \$675,878.03			
Approval Date								By User			
February 2, 2021		Ger	nerated and Ap	ed and Approved (and should be considered Draft) at the Project Office Level by							
February 2, 2021		Reviewe	ed and Approve	Approved (and should be considered Draft) at the Resident Engineer Level by							
February 2, 2021			Re	Approved at the Co	ne Central Office Controllers Office Level by						
Original Com	Original Completion Date		Current Completion Date		Completion Date	% of Curr	ent Contract Amount	unt Complete			
Novembe	r 1, 2020	October 1,	2020	Sept	tember 26, 2020		100.00%				
Co	ntract Informatio	onal Dates		Milestones							
Date Description	Original Completion Da	Current ate Completion D		Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days			
Acceptance Date			Milesto Calend	ne - ar Time	October 18, 2020	October 18, 2020	Milestone Complete				
Awarded Date	March 4, 2020	March 4, 2020									
Letting Date	February 21, 20	20 February 21, 20	020								
Notice to Proceed Date	August 24, 2020	August 24, 202	0								
Open to Traffic Date											
Work Began Date	September 18, 2020	September 18, 2020									

Contract Total Pay For Estimate No. 8								
		This Estimate	Previous	To Date				
200221-A05								
	Total Posted Items Pay	\$0.00	\$675,878.03	\$675,878.03				
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00				
	Incentive	\$0.00	\$0.00	\$0.00				
	Disincentive	\$0.00	\$0.00	\$0.00				
	Liquidated Damage	\$0.00	\$0.00	\$0.00				
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00				
	•		\$675,878.03	\$675,878.03				
Contract Total Pa	yable This Estimate:	\$0.00						
Items Paid This Es	stimate Period							

No Data Available

**Contract Adjustments This Estimate** 

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

No Data Available

Revision 4/1/2020 Page 1 of 6



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(	Contract Project Information	on			
Project Number										
J1P3250	P3250 FAF Scrub seal 6 DAVIESS from the East end of Bridge A6784 to 4th Street in Trenton									
Totals by J	Job Numb	ers								
J1P3250		ed Item Pay s Item Adjustn		s Item Pay	This Estimate \$0.00 \$0.00 <b>\$0.00</b>	Previous \$675,878.03 \$0.00 \$675,878.03	To Date \$675,878.03 \$0.00 <b>\$675,878.03</b>			
	Liqui	ntive centive dated Damage r Contract Adji		s	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00			

Revision 4/1/2020 Page 2 of 6



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 4/1/2020 Page 3 of 6



## Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
200221-A05	J1P3250	0001	0010	4132000	SCRUB SEAL	409,889.00	0.00	409,889.00	SQYD	409,889.00	\$1.41	\$577,943.49
		0001	0020	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$500.00	\$1,000.00
		0001	0030	6161005	CONSTRUCTION SIGNS	1,221.00	0.00	1,221.00	SQFT	1,221.00	\$7.00	\$8,547.00
		0001	0040	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$25.00	\$100.00
		0001	0050	6161025	CHANNELIZER (TRIM LINE)	150.00	-140.00	10.00	EA	10.00	\$20.00	\$200.00
		0001	0060	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$25,000.00	\$25,000.00
		0001	0070	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	6.00	0.00	6.00	EA	6.00	\$350.00	\$2,100.00
		0001	0800	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	140,585.00	-61,132.00	79,453.00	LF	79,453.00	\$0.18	\$14,301.54
		0001	0090	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	184,525.00	0.00	184,525.00	LF	184,525.00	\$0.24	\$44,286.00
		0001	0100	6209903	MISC.24 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	150.00	0.00	150.00	LF	150.00	\$6.00	\$900.00
		0001	5001	2029910	MISC.Cold-mix patches	0.00	15.00	15.00	TONS	15.00	\$100.00	\$1,500.00
	Project J	1P3250 - To	otal Value	Posted to D	Date as of Report Generated Date							\$675,878.03
200221-A05 Ove	00221-A05 Overall - Total Value Posted to Date as of Report Generated Date								\$675,878.03			

Page 4 of 6 Revision 4/1/2020



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

The information below this line are details for Construction Signs (if applicable).

No Data Available

Page 5 of 6 Revision 4/1/2020



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

No Data Available

Revision 4/1/2020 Page 6 of 6